Name:

Date:
UNIT 3 = RATIONAL AND RADICAL RELATIONSHIPS
Unit Assessment
- Assessment |
Unit 3 Assessment

Circle the letter of the best answer.

L . L ox+1 x-2
1. Which simplified rational expression is equivalent to 3 -
X X
4x—x—1 5x* —2x+6
a. T C. —
—x"+3x —X"+3x
5x°—2x+6 5x%~2x+6
b, ———— d —=—
3x 3x

x 5x
2. Which simplified rational expression is equivalent to

° 7
x+1 2x-1
5% 5x*
a. e
2x—1 2x +x—1
5x 5x
b. e
2x+1 2x +x+2

R : o ¥-9 x+3
3. Which simplified rational expression is equivalent to

Cx+1 X
X +3x" —9x—27 x* =9
a.
¥ +x Ax+4
x*—x*—=13x-3 x*—3x
b. - d —
— X +x x+1
) 13 1
What is the solution to the equation ———=——71
X X
a x=-2 c. x=2
b, x=1 d x=14
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5. What s the solution to the equation Jx+3=127
a x=3 c. x=9
b. x=141 d. x=81
6. :What is the solution to the equation Jr+2=97
a. x=121 . x=77
b. x=79 d. x=49
7. x x+2 —7
What is the solution to the equation 37T =17 -2
1
a3 x=—— ¢ x=-~1
2
b. x=18 d x=7

8. Which function does the graph represent?

L 3

BRI I N T I N R N

¢ g(x)z 4x
d ( )_4x2—1
gk x+4
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M 1 . o 4 2
9, Which simplified rational expression is equivalent to ——+—— 7
‘ 3+x x-5
bx~14 6
4. T C. R a—
x°~2x-15 =2x-15
6x+26 q 6x+14
X’ +8x+15 C xP-2x-15
10, Which simplified rationa] expression is equivalent to ! °3x?
x+1
a. 3x c. 3
2x+1
3)(2 3
b, i
X +2x+1 T ox+1

11. What is the solution to v/2x —4=77?
a. x=60.5
b, x=-30.5
c. x=5andx=60
d. x=0andx=15
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12, What s the graph of y=+x+4-17

a. SR . s0p-Y S c. [T T




